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2 256,944 5,123,444 133,500
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02 BBl 13,000 9,500 3,500
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< 11,000 0 11,000
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01 289 372,000 300,000 72,000
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02 2324l 6,800 4,800 2,000
OYaXNEZAN2E2H 2T 6,800 4,800 2,000
307 21201 A 163,400 141,400 22,000
02 It S AIHE L 163,400 141,400 22,000
OLAUNIIEZ=H 28 Ho X2 12,000 0 12,000
OYENXIZZE3 K& 10,000 0 10,000




S5 BB X
YMXIZAY FWAY S
NESIER CERED
A - 3= LASA) - MM - BES I E M Hns2
402 I X2 0| & 165,075 121,075 44,000
01 QIXHE AL ER (RATHE) 44,000 0 44,000
OYMNII = OHHE R 25t 28,000 0 28,000
OYANKI X BHOHE S 3t 16,000 0 16,000
SESSINY 2B MCENY SEAY 971,715 91,715 10,000
Py 369,830 369,830 0
= 27,737 27,737 0
[ia 574,148 564,148 10,000
401 A& HI LS O b 799,428 799,428 0
Py 240,000 240,000 0
= 8,000 18,000 0
2 541,428 541,428 0
01 A&t 782,000 780,000 2,000
OASIAA HAE ASZA 782,000 780,000 2,000
p 240,000 240,000 0
< 18,000 18,000 0
2 524,000 522,000 2,000
02 Zell 13,000 15,000 A2,000
OASIAN =4S HBBA 22 13,000 15,000 A2,000
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